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The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P. Q and R among those cars sold. Total number of Maruti Cars sold in
these cities 1z 90,000, Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

04 Distribution of| Proportion of Car Models Sold

City Sold Cars P Q R
A 1430% 7 7 4
B 16.20% 2 5 2
g 18 40% 3 3 4
D 16 80% 4 3 2
E 12.60% 2 2 1
F 21.70% 2 5

ﬁHHﬁﬁﬁ%%ﬁAfﬁmﬁWﬁmﬁo)m(% faawor 3R (i) 39 9901 T8 BRI H O
ATST P, Q 3R R 1 ST a1 AT § | 71 U531 & a9l 715 DRI BT o WA 90,000 § | ACIDT &
S & YR TR UY BT I g1 |

e[Sl T BRI BT [Gad (%) 5= TG HfS il BT ST
P Q R
A [1430% 7 7 4
B |1620% 2 5 B
C |1840% 3 3 4
D |16.80% 4 3 B
E  |12.60% 2 2 1
F  |21.70% 3 2 5




What is the number of Model-Q cars sold in all cities together?

. 31255

. 31355
3. 31455
4, 31555

(1) 1

(2) 2

3) 3

(4) 4

I e H ol AT Alsd Q Bl ol 1% BRI BT TR /T 6 2

rd =

1.31255
2::31355
3.31455
4. 31555
11
(2) 2
3) 3
(4) 4
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The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F

and (11) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities 1s 90,000. Based on the data in the table. answer the question :

City-wise Distribution of Sold Cars

. 04 Distribution of| Proportion of Car Models Sold

Cir | ™ Sold Cars D Q R

A 14.30% 7 7 4

B 16.20% 2 5 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

F 21.70% 3 2 3

e AIftienT & B8 TeRi A-F 3 0100 RI 1 181 &1 (1) Wi (%) [aaR0 3R (ii) 39 941 713 R 8 dF
OIS P. Q 3R R &1 S{IUId G141 71 8 | 59 el ¥ &=l 15 BRI 1 el T=AN 90,000 T | ATl o
HFHS! & HTER TR Y BI IR Sl |

e |l TS BRI BT TG00 (%) ST STl 1 S
P Q R
A [1430% 7 7 n
B |1620% 2 5 B
C  [1840% 3 3 n
D  |16.80% 4 3 B
E  [12.60% 2 2 1
F  |21.70% 3 2 5

What is the difference between Model-P cars sold in city-D and city E ?

. 2184
2204
. 2204
. 2244
1) 1
(2) 2
3) 3
(4) 4
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2204
2204
L2244
1) 1
() 2
3) 3
(a) 4

i

ENE Y]

1[Option ID=13205]
2[Option ID=13206]
3[Option ID=13207]
4[Option ID=13208]

Sl. No.103
QBID:5201003 ) o . S
The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F

and (i1) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities 15 90,000. Based on the data in the table. answer the question :

City-wise Distribution of Sold Cars

Cite 94 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R
A 14.30% 7 7 4
B 16.20% 2 3 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 & 1
F 21.70% 3 2 3

9 aIfeTanT & B8 e A-F § A19fd SR &1 T80 &1 (i) U2 (%) faaRw iR i) 37 9 718 &RI § o
ATS P, Q 3R R T ST S=a1 AT § | 571 W51 & a9l 715 DRI $1 a W_AT 90,000 § | ANTDT &
TSl & AR TR TY BT IR ST |

i

e[Sl T BRI @I [Gaem (%)
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The number of Model-P cars sold in City D is approximately % of the number of Model-R cars sold in
City A

1. 145
2. 185
. 83
2235
1) 1
) 2
3) 3
(4) 4

WER D ¥ [l Aisa P SR @t T WeR A H f§@] Aisd R BRI &1 T-AT &7 TTHIT fard = Wid=id (%) 2

R SR ]

1. 145
2. 185
3. 83
4,235
(1) 1
(2) 2
(3) 3
(4) 4
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The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (i) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities 1z 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

. 04 Distribution of| Proportion of Car Models Sold

City Sold Cars D Q R

A 14.30% 7 7 4

B 16.20% 2 5 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

F 21.70% 3 2 3

T afeient § B8 TeRi A-F 3 O16fa RI &1 9871 @1 (1) Ui (%) [aaR0 3R (i) 59 o941 718 SRI 8 dF
OIS P, Q 3R R &1 SUId G141 7T & | 59 el ¥ o=l g BRI B ol T-AN 90,000 © | ATl o
3Hipel & YR TR YUY BT 3R gIfoTT |

RG34l 715 PRI BT da0T (%) aﬂmmzﬁm R

7

14.30%
16.20%
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16.80%
12.60%
21.70%
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Sl =1 S
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Number of cars sold in City F is approximately % more than the number of cars sold in City B

13
34
21
275

B

1) 1
(2) 2
(3) 3
(4) 4

ee F 1 59! oRI ot T 9eR B 8 a1 T3 @RI & TRear § e fbd wfawd (%) e g 2

13
34
21
27.5

Foi
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(1) 1
(2) 2
3) 3
(4) 4
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The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (i1) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities 15 90,000. Based on the data in the table. answer the question :

City-wise Distribution of Sold Cars

Cite 94 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q B
A 14.30% 7 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 & 1
F 21.70% 3 2 3

7 aferanT & B8 TeR! A-F § O16fd BRI &1 9= &1 (i) U (%) TR0 iR (i) 39 89 T8 BRI 8 a1
ATS P, Q 3R R T ST S=a1 AT § | 571 W51 & a9l 715 DRI $1 a W_AT 90,000 § | ANTDT &
TSl & AR TR TY BT IR ST |

e[Sl T BRI @I [Gaem (%) S TG HfS il BT ST
P Q R
A [1430% 7 7 1
B [1620% 2 5 B
C |1840% 3 3 n
D |16.80% 4 3 B
E  |12.60% 2 2 1
F  |21.70% 3 2 5

What is the ratio of the number of cars sold in City C to the number of Model-Q cars sold in City D?

19:5
27:8
B3 o
.33:10
1) 1
(2) 2
3) 3
(4) 4

SER ¢ H 941 715 BRI 31 J&1 R eI D H Hisd Q B [da] BRI &1 W= o dld PI SU1d a1 6 2

19:5
27:8
23:7
.33:10
1) 1
(2) 2
(3) 3
(4) 4

b

NENg V]

i

EE %)

1[Option ID=13217]
2[Option ID=13218]
3[Option ID=13219]
4[Option ID=13220]

Sl. No.106
QBID:5201006

Which of the following techniques is recommended for approaching and disciplining a student who may be
prone to explosive behaviour?

1. Move swiftly and get as close to the misbehaving student as possible.
2. Ensure that there are several witnesses to the confrontation.

. Be respectful, brief but assertive.

. Use a loud voice to establish power.

(1) 1

(2) 2

3) 3

(4) 4

NENE %)




gﬁaﬁggmm%mﬁmﬁaiwmﬁm@&@mﬁﬁmﬁ%mﬁaﬁ@ﬁmmﬁm

. TP AYE TITER T3 ard faenf & gt Yva fFAee g oy |
.8 GHEd o [ 91 814 o 90 3 Hiafl 6l |

. YA, HaY T U= Tedrgdd a1d & |

. R RTYd A & [T Sl 3HTarsl BT HgHT B2 |

)1

2) 2

(3) 3

(@) a

S O

1[Option ID=13221]
2[Option ID=13222]
3[Option ID=13223]
4[Option ID=13224]

Sl. No.107
QBID:5201007

Ishita had been practicing her multiplication tables for weeks before her yearly test. She knew all her facts
completely. This type of knowledge that Ishita now has attained does not require attention and concentration.
This process is known as which one of the following ?

. Flashbulb memory

. Schema

. Automaticity

. Procedural memory
1)1

2) 2

(3) 3

(4) 4

SIRTT 31Ul aftfer uslen A ugd Sl 3 UgTSI I S0 &< el Al | 98 IR a2l &1 Ol v 9 S ot
| SR 3fd 5 PR &1 311 U fohdT & SHH &1 37 3R $f5d PR &1 3auhdl Tl gidl & | 59
Trae e T APy U IR o g 2

1. PlY-ged Wi
2. WHHI
3. TEATDRUT

4. ichaTeETeS Wi
(1) 1
(2) 2
(3) 3
(4) 4

b =

e

1[Option ID=13225]
2[Option ID=13226]
3[Option ID=13227]
4[Option ID=13228]

Sl. No.108
QBID:5201008

Match List I with List IT :

LIST I (MOOCs Four Quadrant LIST II (Component)
approach)
A |Quadrant - I I. |e-content
B.  |Quadrant - [T II.  |Self-assessment
C.  |Quadrant - [1I III.  |e-tutorial
D |Quadrant - IV IV. [Web Resources

Choose the correct answer from the options given below :

1. A-ITI, B-IV, C-I, D-II
2. A-IV, B-I, C-III, D-TI
3. A-IIL, B-1, C-IV, D-II
4. A-IV, B-1, C-III, D-1

1) 1

2 2

(3) 3

@) 4




el 191 a1 11 9 Tar Siforg

TN 1 (9 & IR UTE SATRT) T 11 (9CF)
A Ul L [§-siddsd
B. [Ulcn I Ra-HHDT
C_ [Uem L [3-&eiRad
D. [WgIv IV, [da Oares

Fraferiad faeedl 4 4 98l 3Tk &1 99 BIfou :
1. A-III, B-IV, C-I, D-TI
2. A-IV. B-I, C-IIL, D-II
3. AL, B-1, C-IV, D-II
4. A-IV, B-I1, C-III, D-I
1) 1
2) 2
(3) 3
4) 4

1[Option ID=13229]
2[Option ID=13230]
3[Option ID=13231]
4[Option ID=13232]

SI. No.109
QBID:5201009

Match List T with List IT

LIST I (Behavioural Models) |LIST II (Developers / Redevelopers)
A, [Masterv learming [ |Carl SmithMary Smith
B G I Benjamin Bloom JTames
Black
C. |Social learning II1. |BE. Skinner
D Programmed sc_hedule {task v Albert Banc}ura,'Carl
performance reinforcement) " |Thoresen/Wes Becker

Choose the correct answer from the options given below:

A-IV, B-1, C-I1, D-III
A-IL B-I, C-IV, D-III

[ S

3. A-IL, B-IV, C-1, D-III
4. A-IV, B-I, C-III, D-II
(1 1
) 2
(3) 3
@) a
el 1 1 a1 11 9 Tar Siforg
T I (AEERTEP AIST) ﬁ?ﬁ]] (AeTaEalgAde™Sd)
A [udiurr R [Tt Y HL Y
B. 3=y I [deliEE A sdld
C [T Hite I [&1 0% R
p. |0 PR ST @ | (3 SERBT YR T
e GGGl L3
frafeiad faeeal & 9 wel SR &1 99+ Sifo :
1. A-IV, B-I, C-II, D-III
2. AL, B, C-IV, D-III
3. A-IL, B-IV, C-1, D-III
4. A-IV, B-I, C-III, D-II
(1 1
(2) 2
(3) 3
@) 4

1[Option ID=13233]
2[Option ID=13234]
3[Option ID=13235]

4[Option ID=13236]




Sl. No.110
QBID:5201010

Given below are two statements :

Statement I : Sensory memory is that memory which helps an individual to recall something immediately
after having perceived it.

Statement IT : Semantic memory is that memory which helps in storing as well as retrieving a collection of
relationships between events or association of ideas.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I is incorrect but Statement II is correct.
(1) 1

(2) 2

(3) 3

(4) 4

= 21 s few aw &

ra o=

ENE OV

FIF 1§ THA T THIG ¢ S 6T Al B D A SWA B dodld SHHT GA: TR0 H & Feradl
FATE |

HYF 11: 30 A T a8 wgfa © i ofaeansi s =i & go & &9 & 99497 & Suc § HRor g
QHITE A Tl B ¥

SRIh ®HUA & Helih A AT fGT 7w faehedl @ § Hgd 3ugsh SaX & 914 hifae:

1. &y 1R IeE aar §)

k2

Y 13 I e e €

.U [T &, ofhe &Y= 11 7T ®

[#5]

4. U 19Tdg & ofehd U I ga B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13237]
2[Option ID=13238]

3[Option ID=13239]
4[Option ID=13240]

Sl. No.111
QBID:5201011

Given below are two statements :

Statement I : If we accept a hypothesis when it should be rejected, we say type I error has been made.
Statement IT : If we reject a hypothesis when it should be accepted, we say type II error has been made.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II 1s true.

11

) 2

3) 3

(4) 4




a4 o Fue few ow

FY7 1- 3 &1 v Y uramRewaT B TR aRa § o 3diga B @=r oifey o9 e 9% A9 @eg
T 5 oud Trgu 1 g i R

FHU=T 11: 3 & v 87 Urdpedar # 3THIPR Bl ¢ Sdih 56 TdieR fHar Ser ifen, 9 59 a8 A
goa © 6 sad Trsy I g & Y §

W HUA & el #, =g GT 710 el 3 § Had SUGm 3L I =de hleid:

1. &Y= 13K DeE e &1

[

.oy 13T IeE e §

3. YU [ 8T &, bl a1 3T ©l

4, FUF [ 3T & AT Y9 19T B
(1)1
() 2
(3) 3
(4) 4
1[Option ID=13241]
2[Option ID=13242]

3[Option ID=13243]
4[Option ID=13244]

Sl. No.112
QBID:5201012

Which of the following softwares are used for checking plagiarism?

Turnitin
e-view
Scopus
. Urkund
. Quetext

MO W

Choose the most appropriate answer from the options given below :

A.Band D only
.B. C and E only
.A.DandE only
.C.D and E only
1) 1
(2) 2
3) 3
(4) 4

Tifefde IR &1 oa $ & o w9 1 9 i foo aredoRi &1 wai ferar Sare 2

A efifeT
B. 3]
C. ®IUY

D. NP3
E. heRe

i fSu Y fae el & 9 9a8 Sugdd SR 1 99+ SHITofg:

1. Had A, B 3R D
2. %dd B, C IRE

b =

e

1[Option ID=13245]
2[Option ID=13246]




3[Option ID=13247]
4[Option ID=13248]

Sl. No.113
QBID:5201013
a

Which of the following methods are used to measure reliability in research?

Chain-referral sampling
Test-retest

. Split-half

. Inter-rater

. Judgemental test

MmUowp

Choose the correct answer from the options given below :

A, B and C only
.A.Dand C only
.B.Cand D only
.C.D and E only
1) 1
(2) 2
(3) 3
(4) 4

My 1 oyt &1 5194 & e g 3 3 oo fafeai o v fan S g 2

A. g el wlaags
B. 94-U: &9

c. fayaars

D. sidFuR® Geex)
E. ged [Huig o=

el fau ¢ fae el & 4 9l 3Tk &1 994 Piforu:

1.PAd A, B, C
2. DA A, D, C
3. %gdAB, C, D
4. PAAC, D, E

(1 1

) 2

3) 3

4) 4

[

e

1[Option ID=13249]
2[Option ID=13250]
3[Option ID=13251]
4[Option ID=13252]

Sl. No.114
QBID:5201014

Given below are two statements :

Statement I : t-tests are appropriate only when the dependent variables being measured are continuous.
Statement IT : Chi-square statistic allows us to test hypotheses using both continuous and ordinal data.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement IT are true.
. Both Statement I and Statement I are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true.
(1) 1
(2) 2
(3) 3
(4) 4

| S

e T




R eyEtume:
DY : - Had aHl TG §id & o JUd 1T IR Jad i |

au%u:@éwmsﬁ Hdd SR SHYID DS a1 DI YN BR WdHed- &1 i H-
Taig |l

SRIF FYH & ATAD B, =g S0 T fomed T I el SR &1 907 PII:
1. PYT1 AR 11 SH 9 &
2. BYFT I AR 11 ST 3T B

3. YT 1 T €. A HYT 11 3T

4. BYUT I A ¢, AP PUT 1 HT ¢
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13253]
2[Option ID=13254]

3[Option ID=13255]
4[Option ID=13256]

Sl. No.115

QBID:5201015

Given below are two statements :

Statement I : UGC-CARE list includes all the scopus, web of science, and MLA indexed journals.
Statement IT : Open Access Journals are predatory journals.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement IT are true.
. Both Statement I and Statement I are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true.
(1) 1
(2) 2
(3) 3
(4) 4

- & Ty feg U &
HUT 1 ToNT-HURE Tt F Taft Wi, 39 3T Fisy 3R THUOY GHies SHa i e © |
DY : Tad HTH T d el S gl 6 |
SR BYA & e 1, 919 Ru T el ¥ 3 9l 3R 31 994 S
1. BYTI AR I SHI TS |
2. FYA AR SHI ST T |

3. DY I I B, b HYT 11 38T B

P S R S R

4. DY AT 8, AT pUT 1 9T B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13257]
2[Option ID=13258]

3[Option ID=13259]
4[Option ID=13260]

Sl. No.116
QBID:5201016




The people's preconceptions and frames of reference, and spreading one's own limited attitudes towards issues
and images result in:

. Stable identity

. Social harmony

. Positive public opinion
. Stereotypes

1)1

2) 2

3) 3

(4) 4

AR 1 gayRonSl, Harf & GrRI SR Tel d oiadl & uid SHa U=l S sighugl & bR &1
frafafaa o < = oiomg gars 2

e Lo b =

1. R ygaH
2. grIfeE dreTd
3. YORIHAS S0
4. 3feagar (RIRgegs)
1) 1
2 2
(3) 3
(4) 4

1[Option ID=13261]
2[Option ID=13262]
3[Option ID=13263]
4[Option ID=13264]

Sl. No.117
QBID:5201017

In mass communication the audience 1s:

1. Identifiable

2. Relatively small
. Heterogeneous

. Homogeneous
1) 1

(2) 2

(3) 3

(4) 4

S 9IR | g Fefiea f 9@ g0

. SifERE

. 3U&THd U =1 1
fasmedi

Fozd

EE ]

O

(1) 1
) 2
3) 3
(4) 4
1[Option ID=13265]
2[Option ID=13266]

3[Option ID=13267]
4[Option ID=13268]

Sl. No.118
QBID:5201018




The meanings of visual images depend much on:

Individual perception

Social perception

. Political links

. Economic benefits

. Representational Connections.

HU QW

Choose the correct answer from the options given below:

A.Band C only
.B.Cand D only
.C.D and E only
.A.Band E only
1) 1
(2) 2
(3) 3
(4) 4

e fofai & ord e 9 fod Rl Rk a=a § 2

A, qufda® 91y
B. TMHIfoE €Y
C. IeHIa® I (@)
D. 3f1fe Trgfaemy
E. wifaffEe ey
= feu e fomed & O 9ol 3Tk @1 904 Sifo:

1.PAAA, B.C

b

1[Option ID=13269]
2[Option ID=13270]
3[Option ID=13271]
4[Option ID=13272]

Sl. No.119
QBID:5201019

Given below are two statements :

Statement I : The right to communicate can prompt the emergence of negative liberty though its positive
impact cannot be overlooked.

Statement IT : The hidden impact of free market place has diluted the concept of free speech to suit the
corporate ends.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement IT are true.

. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II 1s false.
4., Statement I is false but Statement II 1s true.

1) 1

) 2

3) 3

(4) 4

b=




4 q e R E:

FUF 1 : GO0 B HUPR THRIET Wad P 350 BT URT TR IPHal & T 396 THRIAS JHIG T
e Tl far s aHar g |

DYF 11 : G II0R RIS & TOd THIG 4 PRURC W&l & 3= 1 WG4 PI GURUN Bl §eHT
faarg |
SR HYA D D |, = f3U T fdwed ¥ T Ug! ST &1 99 DIfuit:

HYF 1 AR 11 41 9 &

L HYT I AR ST 3T |

L HYTITA S, AP HYT I 3T T |
PUT ATI e, APT PN IR |
(1)1

(2) 2

(3) 3

(4) 4

—

(]

S ¥

1[Option ID=13273]
2[Option ID=13274]
3[Option ID=13275]
4[Option ID=13276]

Sl. No.120
QBID:5201020

Given below are two statements :

Statement I : The capacity of words need not have any connection with truth.

Statement IT : There is a human tendency to conceal facts and suppress the truth while communicating.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement [ is correct but Statement II is incorrect.
. Statement [ is incorrect but Statement II is correct.

1) 1
(2) 2
3) 3
(4) 4

4 81 PYF AU U §: TP SMUDYA (Assertion A) B FU H fEd § o1 GIRT 3P DRI (Reason R) &
AT

HUHYT A« Ted] DI 4T ST JI F Y g Tae SFT Ha0H Tl o |
PRI R : WU B G99 G DI [T 4R I B @ A-G Wgha g |
TIRI] DY & el B, 5 3T T fasedi o U gad SUga 3R DI 99 ST |

 AJRREF TSI € ARR AT Jel AT ¢ |
 ANRREA TSI €. AFAR. A Tel AT TR | |
ATSIg AfeT R TS TR

ATSI TSI e AP R TG R |

(1 1

@ 2

3) 3

(4) 4

B o R S R

T

1[Option ID=13277]
2[Option ID=13278]
3[Option ID=13279]
4[Option ID=13280]

Sl. No.121
QBID:5201021




Find out the third common term between the two given Arithmetic Progression (AP) series given as :
3,7, 11, 15, and 1, 6, 11, 16,

31

.43

.51

.47

(1) 1

(2) 2

(3) 3

(4) 4
fHifed & =u o gl il garR 4uil (Tdh) & g <R 9= UE &l Jd Sifeg
3 TS
3

1,6, 11,16 ...

[

NENE V)

3
.43
.51
.47
(1) 1
(2) 2
3) 3
(4) 4

N R

1[Option ID=13281]
2[Option ID=13282]
3[Option ID=13283]
4[Option ID=13284]

Sl. No.122
QBID:5201022

A person can do a picce of work in 18 days, After working for 12 days, the person leaves and another person
joins and completes the remaining work in 8 days. In how many days this 2nd person can complete the whole
job?

.20
.24
22

18

bo =

I e

1) 1
(2) 2
(3) 3
(4) 4

T oifad Ue @1d @1 18 AT A aR I@ar © | 12 fel aF &1l a7 & uYTd a8 ofdd @1 @1 8IS adl &
3R IR e D1 B BT URY Tal § 9U1 A9 S B 8 &7 § o= dar ¢ | 78 §u-1 odfad 39 W
&1 &l foa Tl d QR aavar g 2

20
24
22

18

-

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13285]
2[Option ID=13286]

3[Option ID=13287]
4[Option ID=13288]

Sl. No.123
QBID:5201023

The average salary of 25 workers in an office is Rs. 6,000 per month. If the salary of the manager is added, the
average becomes Rs. 6,200. What is the annual salary of the manager?

. 73,200

. 1,34.400
. 1,58.600
.1,03,200

R S N




(1) 1
(2) 2
3) 3
(4) 4

fepeft sprafer & oreiva 25 4fie! 1 ofid 3 6000 TUY AT § | Af% SO aye® @1 307 i Sis
e STl § <t 76 319 6200 ¥U2 BT ST § | Heftieh bl q1itic dai feper1 § ?

73,200

. 1,34,400
. 1,58,600
. 1,03,200
1) 1

(2) 2

(3) 3

(4) 4

o o

1[Option ID=13289]
2[Option ID=13290]
3[Option ID=13291]
4[Option ID=13292]

Sl. No.124
QBID:5201024

In what time a sum of money will double itself at the rate of 8% per annum simple interest?

. 10.5 years
. 12.5 years
. 9.5 years

. 11.5 years
(1) 1

(2) 2

(3) 3

(4) 4

DIy o M 8% Hiday FIURU A1 $I &2 4 fova w9 H gl 8 St 2

1.10.5T4
2.12599
3.05T9
411599
1) 1
) 2
3) 3
(4) 4

b2 -

=

1[Option ID=13293]
2[Option ID=13294]
3[Option ID=13295]
4[Option ID=13296]

Sl. No.125
QBID:5201025

A shopkeeper sold two articles at Rs. 12,000 each. He sold one article at a profit of 20% and the other one ata
loss of 20%. What is the net gain or loss to the shop keeper?

. A loss of Rs. 1000
. A gain of Rs. 1000
. A loss of Rs. 3,000
. Aloss of Rs. 1,500
1) 1
(2) 2
3) 3
(4) 4

ferdfl gpTeRA al 9Egsll & I Ud® Bl 12,000 TYU H &1 | IH Ueh G&] Dl 20% & A1 W &1 Td G|
TE D1 20% DI G W 41 | GHHER B el o F1 81 febai 8 2

. 1000 ¥UU & BIH
. 1000 YT BT ATH
. 3000 $9U B gIH
. 1500 9T B g1H

b=

i SR N ]

[

N V]




1) 1
(2) 2
(3) 3
4) 4
1[Option ID=13297]
2[Option ID=13298]

3[Option ID=13299]
4[Option ID=13300]

Sl. No.126
QBID:5201026

Which informal fallacy is committed in the following argument - "Scientists have been trying for centuries to
disprove the claims of astrology, and none of them has ever succeeded. Therefore, we must conclude that
astrology's claims are true” ?

1. Slippery slope

2. Hasty Generalization

3. Aurgumentum ad Ignorantian (appeal to ignorance)
4. False Cause

1
2 2

@) 3

(4) 4

frafafad gfea & o @1 sHeRe ao-am § - 9fedl ¥ aiHe oy & ardl & 9fsd a3 &1 e
Wﬁ%ﬁﬁ,ﬁiaﬁﬁ@aﬂﬁlﬁmlﬁmﬁ@ﬂ%|&H=Bﬁﬁm§ﬁ¢|mﬁldl%qﬁ?uﬂlﬁw$aﬁ
Ja e

. T aaged g (Feadl =)

1
2. HigaRT

3. IRIRIFTHS e (371 BT 3{178)
4. e R

1[Option ID=13301]
2[Option ID=13302]
3[Option ID=13303]
4[Option ID=13304]

Sl. No.127
QBID:5201027

Which of the following propositions can be directly inferred from the statement - "All mammals are four-
legged animals?

1. All animals are four-legged mammals,
2. No four-legged mammals are animals.
3. Some mammals are four-legged animals.
4. All four legged animals are mammals.
1)1
) 2
3) 3
(4) 4

?Eﬁ@ﬁ iRl o 8 fhue] 58 Hu 9 Hard: SFHIHd [T off Hedl ¢ - a1l WuRT 9mar ug]

St o g TR R

. Ig 1 AU WAUR 9 61 © |
PO WHYRI AT O § |

2 O O] TR

(1) 1

(2) 2

3) 3

(4) 4

O S O

1[Option ID=13305]
2[Option ID=13306]
3[Option ID=13307]
4[Option ID=13308]




Sl. No.128
QBID:5201028

Which of the following statemnents is contrapositive to the following statement - "Some dogs are not
aggressive animals"?

. Some aggressive animals are not dogs.

. Some dogs are aggressive animals.

. Some non-dogs are aggressive animals.

. Some non-aggressive animals are not non-dogs.

da L bI =

1) 1
) 2
3) 3
(4) 4

Fafafad Sy # 8 2F w1 Fefafad $y= & yfouRafdd § - oo od smme 1y =i 8 2

2. 0 T SHHED UG |
3. PO TR SHHHD UG |
4. PO R-MHHS 9 R-F1 5l g |
1
) 2
3) 3
(4) 4

1[Option ID=13309]
2[Option ID=13310]
3[Option ID=13311]
4[Option ID=13312]

Sl. No.129
QBID:5201029
"

Which of the following statements are contradictory to cach other?

. All objects are perishable.

. Some objects are not perishable.
. Some objects are perishable.

. No objects are perishable.

(el o v =

Choose the most appropriate answer from the options given below:;

.Aand D only
.B and D only
. Cand D only
.Aand C only
11
(2) 2
3) 3
(4) 4

Ffefaa d T oF T $YT RER T § 2

A T TRUARE |
B. PO U AR ToI ¢ |

C. 0 OE TR B |
D. &g W ag AR W g |

=19 fou e faoedl & & 9ad 3ugad SR @1 99 BT
1.%ad A 3R D

RN TR

1[Option ID=13313]
2[Option ID=13314]




3[Option ID=13315]
4[Option ID=13316]

Sl. No.130
QBID:5201030

To find my way about in a village I ask a resident for guidance. Which of the following instruments of
knowledge is used according to classical Indian school of Logic (Nyaya)

. Perception (Pratyaksa)

. Similarity (Upmana)

. Inference (Anumana)

. Verbal Testimony (sabda)
1) 1

(2) 2

3) 3

(4) 4

U 9 H 39 A7 Bl TR & feg J AFieRiA 8 U JHaRi 3 °4F1 ST | Ui HRd™ <1 Jd &
IR Fefifad 4 9 99 & 69 e &1 v fea mn g 2

UTE
JUHA

SIHM
e

o=

NENE %)

T

1) 1
2) 2
3) 3
(4) 4
1[Option ID=13317]
2[Option ID=13318]

3[Option ID=13319]
4[Option ID=13320]

Sl. No.131
QBID:5201031

Which of the following applications A-C are built on top of open-source digital platforms?

A. Google Earth
B. DIKSHA
C. MySQL

Choose the correct answer from the options given below.

.Aand B only
.Aand C only
.B and C only
A, Band C
1) 1

(2) 2

(3) 3

(4) 4

%gm@mW(&mﬁ@ﬁq%@ﬁ%ﬁWW$ﬁwﬁﬁﬂ

A TITE 31 (Google Earth)
B. GI&f (DIKSHA)

C. HT5 THFUd (MySQL)
i 3T ¢ faeeul & U IG5l SR &1 99 Difor:

1. Had A IR B
2. BAAA AR C
3.Paa B 3R C
4. A, B3RC

1) 1

) 2

3) 3

(4) 4

b =

SN

1[Option ID=13321]




2[Option ID=13322]
3[Option ID=13323]
4[Option ID=13324]
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Which of the following statements (A-C) are correct with reference to Web 3.0?

A. Web 3.0 technology (theoretically) puts user data and web content into user's hands.

B. Centralization is a core tenet of Web 3.0
C. In Web 3.0 world, block-chain based networks, transactions and businesses will thrive in the coming

years.
Choose the correct answer from the options given below :

.Aand B only
Aand C only
.B and C only
A, BandC
(1) 1

(2) 2

(3) 3

(4) 4

99 3.0 & ey & Fofafed #ui (a-0) TS PH A T8I § 2

A 99 3.0 Wil (Rrgiaa:) waraal s1el ud a9 favgas] &f waied & Suaed B ¢ |

B. 101 39 3.0 BT A IGIA§ |

C. 99 3.0 ST SATTHT au1 & &diic = UR SA1UTRd eaeh I HAdeR 3R a9l Hadl-Hail |
i U U faoetl © T Hel SR &1 994 Bifer:

1. Had A IR B
Fad A AR C
PAAB AR C
A.B3RC

b =

ESE N ]

FBLE R

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13325]
2[Option ID=13326]

3[Option ID=13327]
4[Option ID=13328]
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Given below are two statements :

Statement I : The inventor of WWW is Bill Gates.

Statement IT : IPv6 protocol defines an IP address of 128 bits.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement I are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II 1s true.

(1) 1

(2) 2

3) 3

(4) 4




- & Ty feg U &
DY : S& S« S&(WWW) & MTPRS Fa1eH g |
FUYF 11 : 3MRUIG16 (IPv6) HICdId 120 e & MEdl Tod & URHINd FRAl© |
JWRIF HYH o AP B, -id S0 70 fahedl T I sl 3tk &1 99 PII:
1. B 1 3R 11 SHI 9 &
2. FYA T AR I SHT ST B
3. BYT 1 HW 8. Al HU 11 SHA B

4. PYT 1 TA 8, AP pYT 1 9T B
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13329]
2[Option ID=13330]

3[Option ID=13331]
4[Option ID=13332]
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Consider the following Excel spreadsheet :

A B C D E F
1 3 5 1 2
2 2 % 5 2
3 4 5 7 2

What 1s the value of the formula = SUMIF(B1:B3, "=" & 3. C1:C3)

B =
[ =T LW R FF]

1) 1
(2) 2
(3) 3
(4) 4

Fafiiad taa Sstie ® fiaR #ifo :

A B C D E F
1 3 5 1 2
) ) 3 5 2
3 4 3 7 2
?&_’J : =SUMIF(B1:B3, ">" & 3, Cl:CS)a?—lﬂWEF‘JT%?
1.3
2:5
3.7
4.8
11
(2) 2
3) 3
4) a

1[Option ID=13333]
2[Option ID=13334]
3[Option ID=13335]
4[Option ID=13336]
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Given below are two statements :

Statement I : SWAYAM is a platform developed by Ministry of Education and AICTE to bridge the digital
divide among students,

Statement IT : UGC is a National coordinator of SWAYAM for non-technical Post Graduation education to
ensure that best quality content iz produced and delivered.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

(1) 1
(2) 2
(3) 3
(4) 4

RSPy fiyme:

FHUYF 1 : TUH (SWAYAM) BE1 & A f&STed i &1 @rg @1 e & o e damem 2R
TS TSNS (M) GRT [AwRid U WewH ¢ |

BYUF 11 : goill] IR-AD-1ep] WIaebITR Q&1 B [T WaH (SWAYAM) BT AP FH-GIS ¢ foradl gidd
1 9 fop atoy uraarygul [duaasg &1 Fafor SR Uerett #1 & |

TURIgd BY & P H, 14 Ruw eedi § 4 9l IR &1 954 Sifen:
1. YT 1 3R 1 &I 9 B
2. DY 1 3R 11 ST 3 B

3. PYT I TA B, AT YT 11 3T © |

4. PYTI TS, AT P I TS |
1) 1
2 2
(3) 3
(4) 4
1[Option ID=13337]
2[Option ID=13338]

3[Option ID=13339]
4[Option ID=13340]
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Arrange the following Earth's water compartments in increasing order of the amount of the water they hold.

Rivers and streams
Fresh lakes
Atmosphere

Ice and Snow

Onwp

Choose the correct answer from the following options given below :

LA GBD
2

r el
W
oprw
ngg

ENE O%]

1) 1
(2) 2
(3) 3
(4) 4




Tl & o JUEUS] Bl I1db gRT UIRd O U1 P dgd i H ogdid HIfeU |
A. AfeTi 3R 99-4RG
B. dISll 91 1 et
{Z.
D.ggaiﬁ%ﬂ
=g feu U fomedl § O Ul SR &1 907 Sifo:

1.A,C.B.D
2

00
Joal== it
orw
ngog

e L

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13341]
2[Option ID=13342]

3[Option ID=13343]
4[Option ID=13344]
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Given below are two statements :

Statement : I Municipal solid waste includes Garbage and Rubbish.

Statement IT : Garbage consists of both combustible and non combustible materials.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement IT are true.
. Both Statement I and Statement II are false.
. Statement [ is true but Statement II 1s false.
. Statement [ is false but Statement II is true.

(1) 1
) 2
(3) 3
(4) 4

- & Ty feg U &
FYA 1 : TRUND] & B AR § FS-IIDE (Maw) AR DI6-Hars (i) Sk g |
PUT11: PO-TRDHC 1 saa-RNd R SaaT=iTe Qi Al Jrferd gidl & |
JWRIF] HYH o AP B, Aid S0 70 famedl T I Gl IR &1 994 PII:
L HFIAR IS T E |
2. FYA AR SHI ST T |

3. PYUTI T B, A YT I 3T © |

P S R S R

4. PYT AT L, AT FYT N IR |
(1)1
) 2
3) 3
(4) 4
1[Option ID=13345]
2[Option ID=13346]

3[Option ID=13347]
4[Option ID=13348]
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Given below are two statements :

Statement : I In many cases, both organisms and human infrastructure will not be able to move or adapt
quickly enough to changing climate.

Statement IT : Infectious diseases are likely to increase as a result of global warming.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement IT are false.
. Statement I 1s true but Statement II 1s false.
. Statement I is false but Statement IT is true.

1) 1
(2) 2
3) 3
(4) 4

SIEECRIEA gl I
DU : 3 TGl I Sild HIR HIFG SHTERTHIY 1 gaadl aarg & uid i 9 a1 siea- 4
& TRl 81 |
DYA11 : TG e (e 1Y) & URUITERGEY YbIHd AT § gl & GUa § |
SR BY & a1, 919 U T el ¥ 9 92l R &1 994 Sife:
1. BYTI AR SHI T T |
2. BRI SHI SFAE |

3. PUTI T B, AT YT 1 3T T |

[ S

d o

4. PUT T C, AT FYA N I T |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13349]
2[Option ID=13350]

3[Option ID=13351]
4[Option ID=13352]
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Major contributor to carbon monoxide emissions in metropolitan arcas of India is/are:

. Industrial Sector

. Domestic Sources
. Transport Sector

. Agriculture Sector
1 1

(2) 2

3) 3

(4) 4

YRd & HeFRIY &3 H $la- HHIHaEs 3ol H WHE JMgH [GH & ?
1. e &=
2. TR Hid
3. gfkdg &F
4. Py &
1) 1
2 2

3) 3
(4) 4

B R R

1[Option ID=13353]
2[Option ID=13354]
3[Option ID=13355]
4[Option ID=13356]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Although internal-combustion engines used in today's vehicles can be adapted to burn hydrogen,
hydrogen powered combustion engines probably are not the future of hydrogen fuelled vehicles.

Reason R : It is more efficient to convert hydrogen energy directly to electricity using fuel cells.
In the light of the above statements, choose the correct answer from the options given below :

Both A and R are true and R is the correct explanation of A.
Both A and R are true but R is not the correct explanation of A.
A is true but R is false.

A is false but R 1s true.

Ll

JEN V)

1) 1
(2) 2
(3) 3
(4) 4

4 8 YA AT U §: TP SUDYA (Assertion A) & FU H o1& § O GURT 3P DRI (Reason R) B
ELREE

YT A - T Soioe & dTg=1l 5 Tged ST-R®-gg- ol Bl gIggioi &g & (ol Srggferd fasar
S 9@l B, SIS 510 ad-3MeRd 66 5o THaq: SIegIo 28 ale-l @ Haw g ¢ |

HRUIR : A I& BT ST B §U TS SIoH So1l i Uiel fdggd & Suiaor &1 3ifeid g § |
SR FYF & TS 5. A1d AU 7T ool § T T6t SR &1 999 Difo |

ASRRIFM TIE IRR, AT Jel O © |
ASRREFA T ¢E, AP R AT Jel AT TRl ¢ |
ATIC APAR 3T |
AT R APAR IR |

P

E 5

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=13357]
2[Option ID=13358]

3[Option ID=13359]
4[Option ID=13360]
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While planning for higher education development in India in the twenty first century, the guiding principles
ghould be :

. Access

. Empathy

. Equity

. Accountability
. Quality

Mmoo we

Choose the correct answer from the options given below :

A, B and E only
B. C.Dand E only
A.C.Dand E only
B. C, and D only

B e

=

11
) 2
(3) 3
(4) 4




a9 194! ¥el & YR § 3= e & foore & o & g9 arfexff fagidl § ffatad g9 onfse:

A, Sffys
B. TRIFHd
C. gHefy
D. IRelUd
E. [Ura<t
- feu g fow et # 4 9ad S9gad SR b1 90 BIfoTd:

1. HTAA, BIIRE
2.%ad B, C,D AR E
3.Padd A, C,DIARE
4. HGAB, C ARD

(1) 1

) 2

3) 3

(4) 4

1[Option ID=13361]
2[Option ID=13362]
3[Option ID=13363]
4[Option ID=13364]
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Which of the following ancient systems is focussed on laws of matter and force and of combination and
disintegration?

1. Vaisesika
2. Nirukta

. Chhanda

. Grihya Sutras
(1) 1

(2) 2

3) 3

(4) 4

Fafafad 5 ¥ o9 O ueE gaid 9erd 3R §d auT 9aie ud f9gieH & el mafed e 2

1. aRIfSeT
IERE:S
BT
SIEASE
) 1

(2) 2

(3) 3

(4) 4

]

FLE Tl

1[Option ID=13365]
2[Option ID=13366]
3[Option ID=13367]
4[Option ID=13368]

Sl. No.143
QBID:5201043

According to NEP 2020, what percentage of learners of schools and higher education system shall have
exposure to vocational education by 2025.

. 40% of learners
. 50% of learners
35% learners
30% learners

b

[N V]

(1) 1
) 2
(3) 3
(4) 4




TS 2020 & SR, Tl SR 3o R UG & SRIHGAIsH &1 fba-1 wia<id a8 2025 I
TagIae e 9 iR gem 2

. fftrTaatal &1 40%
. fferTHEdataf &1 50%
. AT dial &1 35%
. HferTHG At &7 30%
1
(2) 2
@3) 3
(4) 4

S O

1[Option ID=13369]
2[Option ID=13370]
3[Option ID=13371]
4[Option ID=13372]
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Which of the following are the characteristics of non-conventional learning 7

A. No fixed curriculum

B. Teacher-centred learning
C. Cost-effective

D. Require regular attendance

Choose the correct answer from the options given below:

.Aand D only
A and C only
.Band C only
.Band D only
11
) 2
(3) 3
(4) 4

frafafad ¥ ¥ TR-IRuRe siftrm &t fagvad S E 2
A BT G st T8

B. ra-disd ™

C. TNTd-Hdl

D. Frafia Sufufa &1 savaa g

A feu arv Tawedl & @ G951 30 &l U+ SIS

1. Had A 3R D
2. Had AR C
3. Pad B AR C
4. HAAB AR D

1 1

) 2

(3) 3

(4) 4

R S A

1[Option ID=13373]
2[Option ID=13374]
3[Option ID=13375]
4[Option ID=13376]
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The Sanskrit-Sahitya parishat whose aim and objectives are to disseminate Sanskrit learning and research in
different branches of indological studies and to store and maintain the ancient Indian cultural and glories of
India was established in the year :

. 1906
1916
. 1964
1961

-

e




(1) 1
(2) 2
3) 3
(4) 4

- T-URYE ST S5 S R &1 TR SR YR [ag1 Sad sreng= o) fafirs gmars
T SHY YT U YR SRS iae iR URd & T11Rd &1 S99 a7 SREU U1, FHST I forg ay

gedi?

. 1906
1916
. 1964
1961
1) 1
(2) 2
(3) 3
(4) 4

ko =

NES Y]

1[Option ID=13377]
2[Option ID=13378]
3[Option ID=13379]
4[Option ID=13380]
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Read the following passage and answer the question :

What 1is it that tutors do. or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

frafaRad Teiw o 9fed SR us &1 3| i)

HITarE el ot Ferd B3 & (7Y e R D © SHYdl 3o 1 HRAT ANMGY 2 $S @l A S&ex
D1 YT 19U A & AU uRHaMS, IS (HER) Sl YHEdl okl TUE [GR1Y 30T &R 2961
B 3R 58 WY FH & YT [HU T | SHaR- e & 9 § SHR IGeR & AFieRH § g4 9l &I
U1 T § R WUfH® 39 F 571 901 g6 U9 R Wa 615 @1 daia- adl & | 39 ey F qren € &
TR G @ (Sgeiad) 71 J @i 3aT 3Fugad anTeH SE1 & GrTaH 3 aTd o 9@l
© | GGl SR IR F1 UGS OF $I Jaa B & Hadod 3R 376 3% 30 ST T 47T
4 & o Iied o3 &1 910 TR § | 599 faeues fR1a oa ot @iy ondl § o fRiee & uifier
&1 geTa Qe var 1 g iR Rignedl &1 wa wfaumh 870 &t a1d sxar ¢ | quift saar s @
U T Bl Ul UGRId B ol Hedieh 1 SHaRidiy 31 oy RR Ia1E | geifes sad
T3 919 8 ¢ [ T g7 gUR1 U8 I Pl © 1o B8 o1 8] H=A1 1T R =9 Ja¢ § 4 ¢ [
&1 1 BT MY | TG SIS e’ 519 T ¥ 8¢ Y 3R U= [dassiied & $o [aarl &7
gﬁmwég’raﬁ?ﬂéﬁﬁ&ﬂ‘iﬁ%mlkaiﬂﬁuwlqld%}?%ﬁﬁqﬁr@aﬂmﬁwmﬁﬁ%ﬂﬁ@
YTYT § |

What has been done to describe the role of online tutors?

. Add value to their guidance

. Provide them with a warning system

. Clarify their duties in fields other than education
. By adoption of certain metaphors

B

1) 1
(2) 2
3) 3
(4) 4




TS ege”l @ YfHeT & quiH & fad o1 e T g 2

1. 31 AFERH H Hegat fpar o |
2. 3% Tdra-1 Woret HaH &
3. 2181 T 5av &4 § 3% Sdadl & TP B
4. BIJIT YD B UG
1) 1
) 2
3) 3
(4) 4

1[Option ID=13381]
2[Option ID=13382]
3[Option ID=13383]
4[Option ID=13384]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

frafafad e & uféd SR Uy &1 SR diford|

SHITarg el B Gerd B & 7Y e I & SHYdl 37 F1 HRAT FNMGY 2 PO AN A Sex
D1 YT H1 9UH A & AU uRHaMS, IS (HER) Sl YHEdl okl TUd [GRIY 30T &3 2961
Wﬁsﬁwmﬁ%mﬁm%%@m%wﬁmﬁw%ﬂﬁ@ﬁﬁﬁﬁﬁ
T e & TR Wifie 30 B 501 90 g4 U IRWP Wo o @I 9dla-! dl ¢ | 39 Jay T e & &
TR R @ (cgeiRad) 7=l § Sfailies 31yaT 3-ugad anTeH SHE1 & URTEH S a1 S gl
© | GGl SR IRIHS F1 AEIS R O S G B & SHdod 3R 376 3% 30 ST T 47T
T & foIU Owed 34 3 91d IRl © | 599 fadgass e we ot af anrdt © < e & wifter
@ gea Qés var 1 i@ iR Rigndl &1 ga wfaumh a7 ot a1d sxar ¢ | quift S9ar & 3
T W &l HUc! Hafid Sl od Hedied $1 SHaridig 31 ooy RR Ia1a | greife sad oft

I 91 U8 ¢ [ T 9 gUR1 U8 qI Rl § 1o 81 ol 8] Pl 150 R 29 Ja § 4 ¢ 6
&8 1 BT A8 | TG SHHaIg Slex $51d H ¥ 8¢ WY 3R U= [ddeiierd & $o [qarl &7

gﬁmwég’raﬁ?ﬂéﬁﬁ&ﬂ‘iﬁ%mlkaiﬂﬁuulqlﬁ?ﬁﬁﬁqﬁr@aﬂmﬁﬂwmﬁﬁ%ﬂﬁ@

YT © |

What will inhibit student’s contribution to tutorial discussions?

Too much contribution of the tutor
. Disruption during tutorials
Internal divisions

QOutside intervention

N

1) 1
(2) 2
3) 3
(4) 4

@t ==l & B & T &1 ol aifed B 2

1. TR BT TP TFEH
2. Rigrata o & R sgauH
3. SffdR® Fe
4.@"@6@@511
1
(2) 2
(3) 3




(4) 4

1[Option ID=13385]
2[Option ID=13386]
3[Option ID=13387]
4[Option ID=13388]
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Read the following passage and answer the question :

What 1s it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations gmde us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

FafeRad T of ufed 3R Uy &1 3w IS

fiare fRiemll &t Semd S & T Sex R © S1Ydl 3o 31 HRAT 0T 2 TS Al - Sex
@1 Yftrest &1 auF F=A & foe aRams, IR (@) Siyar el ol U [N 3091 &R s8]
mﬂaﬁqaﬂ?sﬁwﬁﬁaﬁmﬁm%@ﬁa@a@%wﬁmwﬁﬂﬁ@ﬁﬁwﬁﬁ
U e § URg W T H P15 81 U cRWP W i &I Idla-il odl & | 39 I H H1eg ¢ [
e} R & (SIeiRad) 7=l § @il 3yar S-ugead arTeH S & RTEH S aTid S bl
T | @l IR IRFAHS 51 T=STR SH & Jad $I & B AR I 3P A s &y
T & T TIed B B 1 DRl & | 59 [daa-Tas R8T [Rd 3t @i ol & 9 (8% & WiieR
1 geTa Xfes vara 1 i@ iR Rigmdl &1 gae wfaurh §750 ot 910 s § | i sa=ar & O
Wﬂqmaﬁmﬂwﬁhﬁﬂaﬁwﬁaﬂmmwﬁiw@ﬂmﬂﬁmﬁ
o3I 97d T8 & fob T 3 §HR1 g ArieRiF dl ovd © [ 58 1 ol oAl Aty Mg su Ay H A § s
T8 91 BT Ao | A1 SHaTe e S50 Hd ¥ §¢ §E 3R 391 [dassiiadl & oo faari &1
gﬁmwég’raﬁﬁﬂlﬁﬁﬁ&mﬁﬁwh%ﬁeimqma?%ﬁﬁqﬁrﬂ@aﬂmﬁww%ﬂﬁ@
UTHI © |

The rhetoric of moderators has the intention to :

1. Displace teachers from teaching
2. Liberate students for their own learning
3. Strengthen the authority of teachers
4. Avoid critical pedagogy
1)1
(2) 2
(3) 3
(4) 4

qRTaHS] & EIear &1 e FI T A F g 2

1. Rl 1 fR1gfor 9 fawitfud o
2. BT B 3 HU AT & fo7T o 1
3. R4 & UUDR DI YEg BT
4. fad=rTeTe fRI&MURE 9 g G
1) 1
) 2
3) 3
) 4

1[Option ID=13389]
2[Option ID=13390]
3[Option ID=13391]
4[Option ID=13392]
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Read the following passage and answer the question :

What is it that tutors do. or should do. in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The discourse of participatory learning may result in:

Abandonment of the online tutorial system
Vigorous student protestation

. Emergence of dos and don'ts guidelines
Supervisory role of students
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Read the following passage and answer the question :

What is it that tutors do. or should do. in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The passage is an analysis of:

1. The traditional educational system
2. The new assessment methodology
3. Indian vocational education
4. Paradoxes of online tutoring.
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